Muster: Pilzhaus grof3
16.41x11.31 cm Garn: 38.09 m 01-R:241,G:154,B:190  [0[cRz& RSN MER 0 51e B =5 240
8100 stiche. 02-R:178,G:219,B:031 [0 yAz#As1sH €H0[0[0 R =2Is1s)
10 wechsel. 03-R:248,G:195,B:000 08-R:255,G:245,B:000
04-R:000,G:146,B:063 09-R:000,G:000,B:000

Skalieren: 95%

Muster sequenz information (Wechsel, Stops e.t.c):
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Muster: Pilzhaus klein

10.60x7.27 cm |Garn: 23.92 m [01-R:241,G:154,B:190
5200 stiche. 02-R:178,G:219,B:031
10 wechsel. 03-R:000,G:146,B:063

Skalieren: 100%

05-R:151,G:069,B:120

06-R:218,G:037,B:029

07-R:255,G:245,B:000

08-R:255,G:000,B:255

04-R:248,G:195,B:000 09-R:000,G:000,B:000

Muster sequenz information (Wechsel, Stops e.t.c):
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